in Concrete Vibrators

World Leader

Review 2 . From serial number nr. 16064801

HANDLE




ARTICLE DESCRIPTION QUANTITY
1 81699 HOSE 0,7mts. MF550 25X39 1.0000
2 107080  STAINLESS STRAP C.203 9,6x0,65 30,5m 1.0000
3 80209 HOSE COUPLING M5-M7 1.0000
4 101808 O-RING 15x2 1.0000
5 80204 GUN BOX 1.0000
6 80208 COVER SEAL for GUN POKERS 1.0000
8 81671 HOLDER SWITCH 1.0000
9 102546 SELF-TAPPING SCREW 4,2x19 DIN 7981 4.0000
10 102301 ALLEN BOLT M 4x14 DIN 912 8.8 2.0000
1 81673 SEAL SWITCH 1.0000
12 80205 COVER GUN SWITCH 1.0000
13 80207 HANDLE GUN 1.0000
14 102547  SELF-TAPPING SCREW 4,2x38 DIN 7981 10.0000
15 96214 BOLT CAP 10.0000
16 102178 FLAT WASHER 5 DIN 9021 1.0000
17 102204 HEXAGONAL NUT M 4 DIN 934 5.6 1.0000
18 102218 HEXAGONAL NUT M20x1,5 DIN 936 8.8 1.0000
19 107228 SAFETY STICKER 1.0000
21 104020 STUFFING BOX PG16 1.0000
22 81615 REINFORCEMENT CABLE 1.0000
23 107081 BUCKLE BAND-IT C253 (3/8) 1.0000
24 102543  SELF-TAPPING SCREW 4,8x22 DIN 7981 4.0000
25 104053 CABLE MAN. HO7BQ-F FRZH 3x4 mm? @ 12,3mm 15.0000
26 103784 PLUG 3P 40/50V 32A 200 Hz 1.0000



% World Leader
2 in Concrete Vibrators

Review 2 . From serial number nr. 16064801

POKER M5 AFP




10

11

12

13

14

15

16

17

18

19

20

21

22

23

86640-10

107081

107080

81699

81677

103720

81760

81759

81806

81805

81808

103375

81804

101124

81609

8E25050

8RO50A

102317

81803

101165

81801

POKER HEAD MR5AFP-T

BUCKLE BAND-IT C253 (3/8)

STAINLESS STRAP C.203 9,6x0,65 30,5m

HOSE 0,7/mts. MF550 25X39

SPRING INTERNAL CABLE 1 m 3F

THROUGH CONNECTOR 2.5

PACKING GLAND NUT

PACKING GLAND JOINT MR5

CLOSING HOSE

JOINT SLEEVE

PIPE

SPLIT PIN CIL. DIN6325 2,56

REAR BEARING SUPPORT

BEARING 627 2RS C3

BAR DIA.2,5%x30 mm

STATOR

ROTOR

ALLEN BOLT M 6x20 DIN 912 8.8

ECCENTRIC

BEARING 6302 C3

CAP

1.0000

1.0000

1.0000

1.0000

1.0000

3.0000

1.0000

1.0000

1.0000

1.0000

1.0000

1.0000

1.0000

1.0000

1.0000

1.0000

1.0000

2.0000

1.0000

2.0000

1.0000



